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UNDERTAKING J2.3 1 

  2 
Undertaking  3 
 4 
To advise what component of OPGs SBG forecast is attributable to the impact of 5 
renewables. 6 
 7 
 8 
Response  9 
 10 
OPG’s surplus baseload generation (“SBG”) forecast assumes that renewables, defined 11 
as wind generation, are not curtailable over the test period. As stated in Ex. L-01-036 12 
part b) and Ex. L-05-024 part b), OPG is unaware of any specific commercial or 13 
operational conditions that would lead the IESO to curtail wind generation and OPG is 14 
not aware of any such curtailment action taken by the IESO to date. 15 
  16 
OPG assumes that the amount of the SBG forecast attributable to renewables is that 17 
amount of wind generation that would be available for curtailment. In OPG’s forecast, 18 
this amount is 0.2 TWh in 2010, 0.3 TWh in 2011 and 0.5 TWh in 2012. 19 


